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7. A perfectly competitive industry is in long-run equilibrium (zero economic profits). Show
graphically and explain in a couple of sentences how a{decrease in demand)would affect this
industry and firm. Use side by side graphs of the business firm and industry. (Hint: This is done
best with two sets of graphs below. The first would show the short-run affect of the change in
demand with a loss or profit etc. The second would show the long-run adjustments). Assume that
this is an increasing cost industry. (10 points)
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